## Turkish Journal of Mathematics

http://journals.tubitak.gov.tr/math/

Turk J Math
(2013) 37: $50-59$
(C) TÜBİTAK
doi:10.3906/mat-1104-16

# Approximation by iterates of Beta operators 

Purshottam Narain AGRAWAL ${ }^{1, *}$, Karunesh Kumar SINGH ${ }^{1, \dagger}$, Vikas Kumar MISHRA ${ }^{2}$<br>${ }^{1}$ Department of Mathematics, Indian Institute of Technology, Roorkee, Roorkee-247667(Uttarakhand), India<br>${ }^{2}$ Department of Mathematics, Indian Institute of Technology, Patna, Patna-800013(Bihar), India

## Received: 15.04.2011 • Accepted: 14.11.2011 • Published Online: 17.12.2012 • Printed: 14.01 .2013

Abstract: In this paper, we study the degree of approximation by an iterative combination $T_{n, k}$ of the beta operators introduced by Upreti [8].

Key words: Beta operators, iterative combination, modulus of smoothness

## 1. Introduction

Let $M[0, \infty)$ be the linear space of functions $f(t)$ defined for all $t \geq 0$ and bounded and Lebesgue measurable in every interval $[r, R](0<r<R<\infty)$.

For $f \in M[0, \infty)$, Upreti [8] proposed a sequence of linear positive operators, e.g. Beta operators, defined as

$$
\begin{equation*}
B_{n}(f ; x)=\int_{0}^{\infty} b_{n}(x, u) f(1 / u) d u \tag{1.1}
\end{equation*}
$$

where

$$
b_{n}(x, u)=\frac{x^{n}}{B(n, n)} \frac{u^{n-1}}{(1+x u)^{2 n}}
$$

and $B(n, n)=((n-1)!)^{2} /(2 n-1)!$ is the beta function.
Next, let $H[0, \infty)$ be the linear space of functions $f(x) \in M[0, \infty)$, for which $|f(x)| \leq P x^{\alpha}(P>0, \alpha>$ $0, x>0)$.

Upreti [8] studied some approximation properties of the operators (1.1). Later on, Zhou [9] obtained the direct and inverse theorems for these operators in $L_{p}[0, \infty), 1 \leq p \leq \infty$, using the K-functional technique.

It turns out that the Beta operators are saturated with $O\left(n^{-1}\right)$. So, in order to improve the rate of convergence by these operators we apply the technique of iterative combinations to these operators. Several researchers have used these combinations to improve the order of approximation for some other sequences of linear positive operators (e.g. see [1], [2], [5] and [6]).

[^0]For $f \in H[0, \infty)$, following [3], the iterative combination $T_{n, k}(f ; x)$ of the operators $B_{n}(f ; x)$ is defined as

$$
\begin{aligned}
T_{n, k}(f(t) ; x) & =\left(I-\left(I-B_{n}\right)^{k}\right)(f ; x) \\
& =\sum_{r=1}^{k}(-1)^{r+1}\binom{k}{r} B_{n}^{r}(f(t) ; x)
\end{aligned}
$$

where $B_{n}^{0}=I$ and $B_{n}^{r}=B_{n}\left(B_{n}^{r-1}\right)$ for $r \in \mathbb{N}$.
In the present paper, we establish some direct results in the ordinary approximation by the operators $T_{n, k}(. ; x)$. Further, $C$ denotes a constant which is not the same at each occurrence.

## 2. Preliminary results

In this section, we give some definitions and auxiliary results which are useful in establishing our main results.
For $m \in \mathbb{N}^{0}$ (the set of non-negative integers), the $m^{\text {th }}$ order moment for the operators $B_{n}$ is defined as

$$
\begin{aligned}
\mu_{n, m}(x) & =B_{n}\left((t-x)^{m} ; x\right) \\
& =\int_{0}^{\infty} b_{n}(x, t)\left(\frac{1}{t}-x\right)^{m} d t .
\end{aligned}
$$

Lemma 1 For the function $\mu_{n, m}(x)$, we have the following:
(i) it is a polynomial in $x$ of degree exactly $m$;
(ii) for each $x \in[0, \infty)$,

$$
\mu_{n, m}(x)=O\left(n^{-[(m+1) / 2]}\right), \text { as } n \rightarrow \infty
$$

where $[\beta]$ is the integer part of $\beta$.
Proof It is easy to see that

$$
\sum_{j=0}^{r}\binom{r}{j}(-1)^{r-j} j^{m}= \begin{cases}0, & m=0,1,2, \ldots r-1  \tag{2.2}\\ r!, & m=r\end{cases}
$$

We know that

$$
B_{n}\left(t^{j} ; x\right)=\frac{n(n+1) \ldots(n+j-1)}{(n-1)(n-2) \ldots(n-j)} x^{j}, \text { for } j=1,2,3, \ldots
$$

Hence,

$$
\begin{aligned}
\mu_{n, m}(x) & =B_{n}\left((t-x)^{m} ; x\right) \\
& =\sum_{j=0}^{m}\binom{m}{j}(-1)^{m-j} x^{m-j} B_{n}\left(t^{j} ; x\right) \\
& =(-x)^{m}+\sum_{j=1}^{m}\binom{m}{j}(-1)^{m-j} x^{m-j} \frac{n(n+1) \ldots(n+j-1)}{(n-1)(n-2) \ldots(n-j)} x^{j}
\end{aligned}
$$

(i) If $m=2 r$, for sufficiently large $n$, we have

$$
\begin{align*}
\mu_{n, 2 r}(x)= & x^{2 r}+x^{2 r} \sum_{j=1}^{2 r}\binom{2 r}{j}(-1)^{2 r-j} \frac{\left(1+\frac{1}{n}\right)\left(1+\frac{2}{n}\right) \ldots\left(1+\frac{j-1}{n}\right)}{\left(1-\frac{1}{n}\right)\left(1-\frac{2}{n}\right) \ldots\left(1-\frac{j}{n}\right)} \\
= & x^{2 r}+x^{2 r} \sum_{j=1}^{2 r}\binom{2 r}{j}(-1)^{2 r-j}\left(1+\frac{1}{n} p_{1}(j)+\frac{1}{n^{2}} p_{2}(j)+\ldots+\frac{1}{n^{j}} p_{j}(j)\right) \times \\
& \left(1+\frac{1}{n} q_{1}(j)+\frac{1}{n^{2}} q_{2}(j)+\ldots\right) \tag{2.3}
\end{align*}
$$

where $p_{1}(j), q_{1}(j)$ are polynomials in $j$ of second degree and $p_{2}(j), q_{2}(j)$ are polynomials in $j$ of fourth degree, and so on.

Therefore, $\mu_{n, 2 r}(x)$ is a polynomial in $x$ of degree exactly $2 r$ and the coefficient of $n^{-s}, s \in \mathbb{N}$ in the right hand side of (2.3) is

$$
x^{2 r} \sum_{j=1}^{2 r}\binom{2 r}{j}(-1)^{2 r-j} \sum_{i=0}^{s} p_{i}(j) q_{s-i}(j),
$$

where $p_{0}(j)=q_{0}(j)=1, \forall j=1, \ldots, 2 r$.
Hence, by applying the identity (2.2) to $\mu_{n, 2 r}$, we obtain

$$
\mu_{n, 2 r}(x)=O\left(n^{-r}\right), \text { as } n \rightarrow \infty
$$

(ii) Similarly, when $m=2 r-1, r \in \mathbb{N}$, it follows that $\mu_{n, 2 r-1}(x)$ is a polynomial in $x$ of degree exactly $(2 r-1)$ and

$$
\mu_{n, 2 r-1}(x)=O\left(n^{-r}\right), \text { as } n \rightarrow \infty .
$$

Hence, in view of $\mu_{n, 0}(x)=1$, we obtain the required result.
For every $m \in \mathbb{N}^{0}$ and $p \in \mathbb{N}$, the $m$-th order moment $\mu_{n, m}^{[p]}(x)$ for the operators $B_{n}^{p}$ is defined as $\mu_{n, m}^{[p]}(x)=B_{n}^{p}\left((t-x)^{m} ; x\right)$. We denote $\mu_{n, m}^{[1]}(x)$ by $\mu_{n, m}(x)$.

Lemma 2 There holds the recurrence relation

$$
\mu_{n, m}^{[p+1]}(x)=\sum_{j=0}^{m}\binom{m}{j} \sum_{i=0}^{m-j} \frac{1}{i!} D^{i}\left(\mu_{n, m-j}^{[p]}(x)\right) \mu_{n, i+j}(x)
$$

where $D$ denotes $\frac{d}{d x}$.
Proof By binomial expansion, we may write

$$
\begin{align*}
\mu_{n, m}^{[p+1]}(x) & =B_{n}^{p+1}\left((t-x)^{m} ; x\right) \\
& =B_{n}\left(B_{n}^{p}\left((t-x)^{m} ; u\right) ; x\right) \\
& =B_{n}\left(B_{n}^{p}\left((t-u+u-x)^{m} ; u\right) ; x\right) \\
& =\sum_{j=0}^{m}\binom{m}{j} B_{n}\left((u-x)^{j} \mu_{n, m-j}^{[p]}(u) ; x\right) . \tag{2.4}
\end{align*}
$$

Now, applying Lemma 1, it follows that $\mu_{n, m-j}^{[p]}(u)$ is a polynomial in $u$ of degree $(m-j)$, therefore by Taylor's expansion, we have

$$
\begin{equation*}
\mu_{n, m-j}^{[p]}(u)=\sum_{i=0}^{m-j} \frac{(u-x)^{i}}{i!} D^{i}\left(\mu_{n, m-j}^{[p]}(x)\right) \tag{2.5}
\end{equation*}
$$

On combining (2.4) and (2.5), the required result follows.

Lemma 3 For $p \in \mathbb{N}, m \in \mathbb{N}^{0}$ and $x \in[0, \infty)$, we have

$$
\begin{equation*}
\mu_{n, m}^{[p]}(x)=O\left(n^{-[(m+1) / 2]}\right) . \tag{2.6}
\end{equation*}
$$

Proof For $p=1$, the result follows from Lemma 1. Suppose (2.6) is true for a certain $p$. Then $\mu_{n, m-j}^{[p]}(x)=$ $O\left(n^{-[(m-j+1) / 2]}\right), \forall 0 \leq j \leq m$.
Also, since $\mu_{n, m-j}^{[p]}(x)$ is a polynomial in $x$ of degree $(m-j)$, we have

$$
D^{i}\left(\mu_{n, m-j}^{[p]}(x)\right)=O\left(n^{-[(m-j+1) / 2]}\right), \quad \forall 0 \leq i \leq m-j
$$

Now, applying Lemma 2 and Lemma 1, we obtain

$$
\begin{aligned}
\mu_{n, m}^{[p+1]}(x) & =\sum_{j=0}^{m} \sum_{i=0}^{m-j} O\left(n^{-[(m-j+1) / 2]}\right) O\left(n^{-[(i+j+1) / 2]}\right) \\
& =O\left(n^{-[(m+1) / 2]}\right) .
\end{aligned}
$$

Thus, the result holds for $p+1$. Hence, the lemma is proved by induction $\forall p \in \mathbb{N}$.
Let $0<a<b<\infty, f \in C[a, b]$ and $\left[a_{1}, b_{1}\right] \subset(a, b)$. Then, for sufficiently small $\eta>0$, the Steklov mean $f_{\eta, m}$ of the $m$-th order corresponding to $f$ is defined as follows:

$$
f_{\eta, m}(t)=\eta^{-m} \int_{-\eta / 2}^{\eta / 2} \cdots \int_{-\eta / 2}^{\eta / 2}\left(f(t)+(-1)^{m-1} \Delta_{\sum_{i=1}^{m} t_{i}}^{m} f(t)\right) \prod_{i=1}^{m} d t_{i}, \quad t \in\left[a_{1}, b_{1}\right]
$$

where $\Delta_{h}^{m}$ is the $m$-th order forward difference operator with step length $h$.
Lemma 4 [7] For the function $f_{\eta, m}$, we have
(a) $f_{\eta, m}$ has derivatives up to order $m$ over $\left[a_{1}, b_{1}\right]$;
(b) $\left\|f_{\eta, m}^{(r)}\right\|_{C\left[a_{1}, b_{1}\right]} \leq C_{r} \eta^{-r} \omega_{r}(f, \eta,[a, b]), r=1,2, \ldots, m$;
(c) $\left\|f-f_{\eta, m}\right\|_{C\left[a_{1}, b_{1}\right]} \leq C_{m+1} \omega_{m}(f, \eta,[a, b])$;
(d) $\left\|f f_{\eta, m}^{(m)}\right\|_{C\left[a_{1}, b_{1}\right]} \leq C_{m+2} \eta^{-m}\|f\|_{C[a, b]} ;$
(e) $\left\|f_{\eta, m}\right\|_{C\left[a_{1}, b_{1}\right]} \leq C_{m+3}\|f\|_{C[a, b]}$,
where $C_{i}^{\prime} s$ are certain constants that depend on $i$ but are independent of $f$ and $\eta$.
Lemma 5 For $l$-th moment $(l \in \mathbb{N})$ of $T_{n, k}$, we find that

$$
T_{n, k}\left((t-x)^{l}: x\right)=O\left(n^{-k}\right) .
$$

Proof For $k=1$, the result holds from Lemma 1. Let us assume that it is true for a certain $k$, then by the definition of $T_{n, k}$ we get

$$
\begin{align*}
T_{n, k+1}\left((t-x)^{l} ; x\right) & =\sum_{r=1}^{k+1}(-1)^{r+1}\binom{k+1}{r} B_{n}^{r}\left((t-x)^{l} ; x\right) \\
& =T_{n, k}\left((t-x)^{l} ; x\right) \\
& +\sum_{r=1}^{k+1}(-1)^{r+1}\binom{k}{r-1} B_{n}^{r}\left((t-x)^{l} ; x\right) \\
& =I_{1}+I_{2}, \text { say. } \tag{2.7}
\end{align*}
$$

Now, by Lemma 2, the second sum on the right of (2.7) is equal to

$$
\begin{align*}
\sum_{r=0}^{k}(-1)^{r}\binom{k}{r} \mu_{n, l}^{[r+1]}(x) & =\mu_{n, l}(x)-\sum_{j=1}^{l} \sum_{i=0}^{l-j}\binom{l}{j} \frac{1}{i!}\left[D^{i} T_{n, k}\left((t-x)^{l-j} ; x\right)\right] \mu_{n, i+j}(x) \\
& -\sum_{i=0}^{l} \frac{1}{i!}\left[D^{i} T_{n, k}\left((t-x)^{l} ; x\right)\right] \mu_{n, i}(x) \\
& =-\sum_{j=1}^{l-1} \sum_{i=0}^{l-j}\binom{l}{j} \frac{1}{i!}\left[D^{i} T_{n, k}\left((t-x)^{l-j} ; x\right)\right] \mu_{n, i+j}(x) \\
& -\sum_{i=1}^{l} \frac{1}{i!}\left[D^{i} T_{n, k}\left((t-x)^{l} ; x\right)\right] \mu_{n, i}(x)-T_{n, k}\left((t-x)^{l} ; x\right) . \tag{2.8}
\end{align*}
$$

Hence, on combining (2.7-2.8) and then using Lemma 1, we obtain

$$
T_{n, k+1}\left((t-x)^{l} ; x\right)=O\left(n^{-(k+1)}\right) .
$$

Thus, the result holds for $k+1$. Hence, the lemma follows by induction for all $k \in \mathbb{N}$.

## 3. Main results

First, we establish Voronovskaja type asymptotic formula for the operators $T_{n, k}(\cdot ; x)$.

Theorem 1 Let $f$ be bounded and integrable on $[0, \infty)$, admitting a
derivative of order $2 k$ at a point $x \in[0, \infty)$. Then we have

$$
\begin{equation*}
\lim _{n \rightarrow \infty} n^{k}\left[T_{n, k}(f ; x)-f(x)\right]=\sum_{\nu=1}^{2 k} \frac{f^{(\nu)}(x)}{\nu!} Q(\nu, k, x) \tag{3.9}
\end{equation*}
$$

and

$$
\begin{equation*}
\lim _{n \rightarrow \infty} n^{k}\left[T_{n, k+1}(f ; x)-f(x)\right]=0 \tag{3.10}
\end{equation*}
$$

where $Q(\nu, k, x)$ are certain polynomials in $x$ of degree at most $\nu$. Further, the limits in (3.9) and (3.10) hold uniformly in $[a, b]$ if $f^{(2 k)}(x)$ is continuous on $(a-\eta, b+\eta) \subset[0, \infty), \eta>0$.
Proof By a partial Taylor's expansion of $f$, we have

$$
\begin{equation*}
f(t)=\sum_{\nu=0}^{2 k} \frac{f^{(\nu)}(x)}{\nu!}(t-x)^{\nu}+\epsilon(t, x)(t-x)^{2 k}, \tag{3.11}
\end{equation*}
$$

where $\epsilon(t, x) \rightarrow 0$ as $t \rightarrow x$.
Operating by $T_{n, k}$ on both sides of (3.11), we get

$$
\begin{aligned}
n^{k}\left[T_{n, k}(f ; x)-f(x)\right] & =n^{k} \sum_{\nu=1}^{2 k} \frac{f^{(\nu)}(x)}{\nu!} T_{n, k}\left((t-x)^{\nu} ; x\right) \\
& +n^{k} T_{n, k}\left(\epsilon(t, x)(t-x)^{2 k} ; x\right) \\
& =I_{1}+I_{2}, \text { say. }
\end{aligned}
$$

Making use of Lemma 5, we obtain

$$
I_{1}=\sum_{\nu=1}^{2 k} \frac{f^{(\nu)}(x)}{\nu!} Q(\nu, k, x)+o(1)
$$

where $Q(\nu, k, x)$ is the coefficient of $n^{-k}$ in $T_{n, k}\left((t-x)^{\nu} ; x\right), \nu=1,2, \ldots, 2 k$.

For a given $\epsilon^{\prime}>0$, we can find a $\delta>0$ such that $|\epsilon(t, x)|<\epsilon^{\prime}$ whenever $0<|t-x|<\delta$ and for $|t-x| \geq \delta$, $|\epsilon(t, x)| \leq K$ for some $K>0$. Suppose $\chi(t)$ is the characteristic function of the interval $(x-\delta, x+\delta)$, then

$$
\begin{aligned}
\left|I_{2}\right| & \leq n^{k} \sum_{r=1}^{k}\binom{k}{r} B_{n}^{r}\left(|\epsilon(t, x)|(t-x)^{2 k} \chi(t) ; x\right) \\
& +n^{k} \sum_{r=1}^{k}\binom{k}{r} B_{n}^{r}\left(|\epsilon(t, x)|(t-x)^{2 k}(1-\chi(t)) ; x\right) \\
& =I_{3}+I_{4}, \text { say. }
\end{aligned}
$$

In view of Lemma 3, we have $I_{3}=\epsilon^{\prime} O(1)$.
Again, using Lemma 3,

$$
\begin{aligned}
I_{4} & \leq K n^{k} \sum_{r=1}^{k}\binom{k}{r} B_{n}^{r}\left((t-x)^{2 s} \delta^{2 k-2 s} ; x\right) \\
& \leq K n^{k} \delta^{2 k-2 s} \sum_{r=1}^{k}\binom{k}{r} B_{n}^{r}\left((t-x)^{2 s} ; x\right) \\
& =O\left(n^{k-s}\right)=o(1), \text { for any integer } s>k
\end{aligned}
$$

Thus, due to the arbitrariness of $\epsilon^{\prime}$, it follows that $\left|I_{2}\right|=o(1)$.
Combining the estimates of $I_{1}$ and $I_{2}$, we obtain (3.9). Assertion (3.10) follows along the same lines by using the fact that

$$
T_{n, k+1}\left((t-x)^{\nu} ; x\right)=O\left(n^{-(k+1)}\right), \text { for all } \nu \in \mathbb{N}
$$

The uniformity assertion follows due to the uniform continuity of $f^{(2 k)}$ on $[a, b]$ which enables $\delta$ to become independent of $x$ and the uniformness of the term $o(1)$ in the estimate of $I_{1}$.

In our next result, we obtain an estimate of the degree of approximation of a function with specified smoothness.

Theorem 2 Let $p \in \mathbb{N}, 1 \leq p \leq 2 k$ and $f$ be bounded and integrable on $[0, \infty)$. If $f^{(p)}$ exists and is continuous on $(a-\eta, b+\eta) \subset[0, \infty)$, for some $\eta>0$, then

$$
\begin{equation*}
\left\|T_{n, k}(f ; x)-f(x)\right\|_{C[a, b]} \leq \max \left\{C_{1} n^{-p / 2} \omega\left(f^{(p)}, n^{-1 / 2}\right), C_{2} n^{-k}\right\} \tag{3.12}
\end{equation*}
$$

where $C_{1}=C_{1}(k, p), C_{2}=C_{2}(k, p, f)$ and $\omega\left(f^{(p)}, \delta\right)$ is the modulus of continuity of $f^{(p)}$ on $(a-\eta, b+\eta)$.
Proof By our hypothesis, we may write for all $t \in[0, \infty)$ and $x \in[a, b]$

$$
\begin{align*}
f(t) & =\sum_{\nu=0}^{p} \frac{f^{(\nu)}(x)}{\nu!}(t-x)^{\nu}+\frac{f^{(p)}(\xi)-f^{(p)}(x)}{p!}(t-x)^{p} \chi(t) \\
& +F(t, x)(1-\chi(t)) \tag{3.13}
\end{align*}
$$

where $\chi(t)$ is the characteristic function of $(a-\eta, b+\eta), \xi$ lies between $t$ and $x$ and $F(t, x)$ is defined as

$$
F(t, x)=f(t)-\sum_{\nu=0}^{p} \frac{f^{(\nu)}(x)}{\nu!}(t-x)^{\nu}
$$

$\forall t \in[0, \infty) \backslash(a-\eta, b+\eta)$ and $x \in[a, b]$.
Now, operating by $T_{n, k}$ on both sides of (3.13), we get

$$
\begin{aligned}
T_{n, k}(f(t) ; x) & =\sum_{\nu=0}^{p} \frac{f^{(\nu)}(x)}{\nu!} T_{n, k}\left((t-x)^{\nu} ; x\right)+T_{n, k}\left(\frac{f^{(p)}(\xi)-f^{(p)}(x)}{p!}(t-x)^{p} \chi(t) ; x\right) \\
& +T_{n, k}(F(t, x)(1-\chi(t)) ; x) \\
& =I_{1}+I_{2}+I_{3}, \text { say. }
\end{aligned}
$$

On an application of Lemma 5, we obtain

$$
I_{1}=f(x)+O\left(n^{-k}\right), \text { uniformly in } x \in[a, b]
$$

Next, applying Schwarz inequality and Lemma 3, we get

$$
\begin{aligned}
\left|I_{2}\right| & \leq \sum_{r=1}^{k}\binom{k}{r} \frac{\omega\left(f^{(p)}, \delta\right)}{p!} B_{n}^{r}\left(|t-x|^{p}+\frac{|t-x|^{p+1}}{\delta} ; x\right) \\
& =\omega\left(f^{(p)}, \delta\right)\left[O\left(n^{-p / 2}\right)+\delta^{-1} O\left(n^{-(p+1) / 2}\right)\right] \\
& =\omega\left(f^{(p)}, n^{-1 / 2}\right) O\left(n^{-p / 2}\right)
\end{aligned}
$$

uniformly in $x \in[a, b]$, on choosing $\delta=n^{-1 / 2}$.
Lastly, to estimate $I_{3}=T_{n, k}(F(t, x)(1-\chi(t)) x)$, we proceed as follows:
On an application of Lemma 3, for any integer $s>\max \left\{\frac{p}{2}, k\right\}$, we obtain

$$
\begin{aligned}
\left|I_{3}\right| & \leq M \sum_{r=1}^{k}\binom{k}{r} B_{n}^{r}\left(|t-x|^{p} ; x\right) \\
& \leq M \sum_{r=1}^{k}\binom{k}{r} B_{n}^{r}\left(\frac{(t-x)^{2 s}}{\delta^{2 s-p}} ; x\right) \\
& =\frac{M}{\delta^{2 s-p}} \sum_{r=1}^{k}\binom{k}{r} \mu_{n, 2 s}^{[r]}(x) \\
& =O\left(n^{-s}\right)=o\left(n^{-k}\right), \text { uniformly in } x \in[a, b] .
\end{aligned}
$$

Now, combining the estimates of $I_{1}, I_{2}$ and $I_{3},(3.12)$ is established. This completes the proof.
In our next result, we obtain an estimate of the degree of approximation of a function in terms of higher order modulus of continuity which is an improvement of Theorem 2.

Theorem 3 Let $f$ be bounded and integrable on $[0, \infty)$. If $f$ is continuous on $(a-\lambda, b+\lambda) \subset(0, \infty)$, for some $\lambda>0$, then

$$
\left\|T_{n, k}(f ; .)-f\right\|_{C[a, b]} \leqslant C_{1} n^{-k}+C_{2} \omega_{2 k}\left(f ; n^{-1 / 2} ;(a-\lambda, b+\lambda)\right)
$$

where $C_{1}$ and $C_{2}$ are independent of $f$ and $n$.
Proof Let $f_{\eta, 2 k}$ be the Steklov mean of $2 k$-th order corresponding to $f$. Then we can write

$$
\begin{aligned}
\left\|T_{n, k}(f ; .)-f\right\|_{C[a, b]} & \leq\left\|T_{n, k}\left(f-f_{\eta, 2 k} ; .\right)\right\|_{C[a, b]}+\left\|T_{n, k}\left(f_{\eta, 2 k} ; .\right)-f_{\eta, 2 k}\right\|_{C[a, b]} \\
& +\left\|f-f_{\eta, 2 k}\right\|_{C[a, b]} \\
& =S_{1}+S_{2}+S_{3}, \text { say. }
\end{aligned}
$$

By property (c) of the Steklov mean, we get

$$
S_{3} \leq C \omega_{2 k}(f, \eta,(a-\lambda, b+\lambda)) .
$$

Next, applying Theorem 1 and the interpolation property [4], for each $\nu=1,2, \ldots, 2 k$, it follows that

$$
\begin{aligned}
S_{2} & \leq C n^{-k} \sum_{\nu=1}^{2 k}\left\|f_{\eta, 2 k}^{(\nu)}\right\|_{C[a, b]} \\
& \leqslant C n^{-k}\left(\left\|f_{\eta, 2 k}\right\|_{C[a, b]}+\left\|f_{\eta, 2 k}^{(2 k)}\right\|_{C[a, b]}\right)
\end{aligned}
$$

Hence, by properties (b) and (e) of Steklov mean, we have

$$
S_{2} \leqslant C n^{-k}+C^{\prime} \eta^{-2 k} n^{-k} \omega_{2 k}(f, \eta,(a-\lambda, b+\lambda))
$$

Let $a^{*}$ and $b^{*}$ be such that $a-\lambda<a^{*}<a<b<b^{*}<b+\lambda$ and $\psi$ be the characteristic function of $\left[a^{*}, b^{*}\right]$. Then, by using Hölder's inequality, Lemma 1 and property (c) of Steklov mean, we get

$$
\begin{aligned}
S_{1} & \leq\left\|T_{n, k}\left(\psi(t)\left(f(t)-f_{\eta, 2 k}(t)\right) ; .\right)\right\|_{C[a, b]}+\left\|T_{n, k}\left((1-\psi(t))\left(f(t)-f_{\eta, 2 k}(t)\right) ; .\right)\right\|_{C[a, b]} \\
& \leq C\left(\left\|f-f_{\eta, 2 k}\right\|_{C\left[a^{*}, b^{*}\right]}+n^{-m}\right), \forall m>0 \\
& \leq C\left(\omega_{2 k}(f, \eta,(a-\lambda, b+\lambda))+n^{-m}\right) .
\end{aligned}
$$

Now, choosing $m \geq k$ and $\eta=n^{-1 / 2}$ in the estimates of $S_{1}, S_{2}$ and $S_{3}$, the result follows.

## Acknowledgements

The authors are thankful to Dr. T. A. K. Sinha for valuable discussions during the preparation of this paper. The authors are also extremely grateful to the referee for his valuable comments and suggestions leading to a better presentation of the paper.

## References

[1] Agrawal, P. N., Gupta, V.: On the iterative combination of Phillips operators, Bull. Inst. Math. Acad. Sinica 18, no. 4, 361-368 (1990).
[2] Finta, Z., Govil, N. K., Gupta, V.: Some results on modified Szász-Mirakjan operators, J. Math. Anal. Appl. 327, no. 2, 1284-1296 (2007).
[3] Gairola, A. R.: Approximation by Combinations of Operators of Summation-Integral Type, Ph.D Thesis, IIT Roorkee, Roorkee (Uttarakhand), India, 2009.
[4] Goldberg, S., Meir, A.: Minimum moduli of ordinary differential operators, Proc. London Math. Soc. (3) 23, 1-15 (1971).
[5] Gupta, M. K., Vasishtha, V.: The iterative combinations of a new sequence of linear positive operators, Math. Comput. Modelling 39, no. 4-5, 521-527 (2004).
[6] Micchelli, C. A.: The saturation class and iterates of the Bernstein polynomials, J. Approx. Theory 8, 1-18 (1973).
[7] Timan, A. F.: Theory of Approximation of Functions of a Real Variable (English Translation), Dover Publication Inc., New York, 1994.
[8] Upreti, R.: Approximation properties of beta operators, J. Approx. Theory 45 (1985), no. 2, 85-89.
[9] Zhou, D. X.: $L^{p}$-inverse theorems for beta operators, J. Approx. Theory 66, no. 3, 279-287 (1991).


[^0]:    *Correspondence: pna_iitr@yahoo.co.in
    ${ }^{\dagger}$ Supported in part by the "Council of Scientific and Industrial Research", New Delhi, India 2000 AMS Mathematics Subject Classification: 41A25, 41A35, 41A36.

